? £ 5? (@ YT T BN (UMD HTelich)

L fediop: R
(—9)? -9 = 22 +5=
(" +3= (=57 +(2)=
(—6)(? + 4 = 50— (—6) =
(-2)* -9= 6" +9=
(—8)— 8= 2’ +4=
(-9 +(-6) = (-8)"+9=
20D 4+ (=6) = 2~ (-1 =
(=8) "+ (-1 = (-6)* +(~10) =
(—5)* + (-10) = (2 +7=
(—2)7V +(-5) = (—10) + 5 =
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“MH:

728 80
(-9 -9= (—ﬁ) = (_88_1)

N I L
(4 V3= =27
IPNE N LS
(—6) 7 +4 36 436
(27 9= (-9
(-8)-8=(-16)

L9\ 4 (—6) = (—2) = (—6
O+ (-6) = () = (~65)

1 1
2D+ (-6) = (5 = (-53)
QYD 4 (=1) = (—2) = (—1-
B+ (D)= () = (1)
(=5)> + (-10) = 15

- 11 1
(D H(5) = (-5)=(55)

Wz W:

2’ +5=9

- 49 24
)+ (D)= ()= (13

151 1
2) (V= - — G
> (F0)= 55 =03
6" +9=10
2°+4=38

71 7
— (_1)+ :_:8_
(=8) 9=2 =8
22-(-1)=5

(—6)> + (—10) = 26

NI SSE L |
(DN +7= 2 =63
(~10)+5 = (-5)
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